

NOVEL RESULTS FOR GENERALIZED APOSTOL TYPE POLYNOMIALS ASSOCIATED WITH HERMITE POLYNOMIALS

WASEEM AHMAD KHAN, KOTTAKKARAN SOOPPY NISAR, UGUR DURAN, AND MEHMET ACIKGOZ

ABSTRACT. In this paper, the authors introduce a new class of Hermite-based generalized Apostol-Bernoulli, Apostol-Euler, and Apostol-Genocchi polynomials. The authors then derive some basic properties and several implicit summation formulae by utilizing the series manipulation methods. The authors also investigate several symmetric identities, which are extensions of many earlier well-known results. Moreover, the authors consider a novel class of Hermite-based generalized Apostol-Bernoulli, Apostol-Euler, and Apostol-Genocchi polynomials including geometric and Bell polynomials, and give some basic properties.

1. INTRODUCTION

Apostol [1] considered a class of the usual Bernoulli numbers and polynomials (called Apostol-Bernoulli numbers and Apostol-Bernoulli polynomials) when he worked the Lipschitz-Lerch Zeta functions and derived several basic properties of these numbers and polynomials. From Apostol's time to now, Apostol type polynomials with many extensions have been studied and investigated by many mathematicians, cf. [1,2,6,10,13-17,19-21,23,33] and see also the references cited therein. For example, Luo et al. [19] introduced Apostol-Bernoulli polynomials and numbers of higher order and also, investigated some of their elementary properties and various explicit identities for them including the Gaussian hypergeometric function and the Hurwitz-Zeta function. Luo [16] considered Apostol-Euler polynomials and numbers of higher order and also, derived some of their basic properties and diverse explicit formulas involving the Stirling numbers of the second kind and the Gaussian hypergeometric function. Luo et al. [20] defined Apostol-Genocchi polynomials and numbers of higher order and also, acquired some of their elementary properties and explicit relationships with the Apostol-Bernoulli polynomials and the Apostol-Euler polynomials, and derived various explicit series representations in terms of the Gaussian hypergeometric function and the Hurwitz (or generalized) zeta function. Boyadzhiev [5] investigated some new connections for Apostol-Bernoulli polynomials related to the derivative polynomials and Eulerian polynomials. Khan [10] considered generalized Apostol type Hermite-based polynomials and investigated some properties and relations of them. Kurt [13] presented a new unification of Apostol type polynomials and numbers, and discovered some symmetry identities, explicit relationships and recurrence relation for these unified polynomials. Llanos et al. [14] defined modified generalized Apostol-type polynomials and attained some algebraic and differential properties associated with the Stirling numbers of the second kind, the Jacobi polynomials, the generalized Bernoulli polynomials, the Genocchi polynomials and the Apostol-Euler polynomials. Lu et al. [15] studied some properties of the generalized Apostol-type polynomials given in [20] and provided several recurrence relations, differential equations and some other connected problems. Luo [17] introduced Apostol-Genocchi polynomials and q -Apostol-Genocchi polynomials and then, gave some basic properties and several interesting relationships for q -Apostol-Genocchi polynomials.

The Apostol-Bernoulli polynomials $B_n^{(\alpha)}(x; \lambda)$, the Apostol-Euler polynomials $E_n^{(\alpha)}(x; \lambda)$ and the Apostol-Genocchi polynomials $G_n^{(\alpha)}(x; \lambda)$ of order $\alpha \in \mathbb{C}$, are defined by means of the following generating functions

1991 *Mathematics Subject Classification.* Primary 11B68, Secondary 33C45, 05A10.

Key words and phrases. Hermite polynomials, Apostol-Bernoulli polynomials, Apostol-Euler polynomials, Apostol-Genocchi polynomials, geometric polynomials, summation formulae, symmetric identities.

(see [1,2,6,10,13-17,19-21,23,33]):

$$\left(\frac{t}{\lambda e^t - 1}\right)^\alpha e^{xt} = \sum_{n=0}^\infty B_n^{(\alpha)}(x; \lambda) \frac{t^n}{n!}, (|t + \ln \lambda| < 2\pi, 1^\alpha = 1), \tag{1.1}$$

($|t| < 2\pi$ when $\lambda = 1$; $|t| < |\log \lambda|$ when $\lambda \neq 1$)

$$\left(\frac{2}{\lambda e^t + 1}\right)^\alpha e^{xt} = \sum_{n=0}^\infty E_n^{(\alpha)}(x; \lambda) \frac{t^n}{n!}, (|t + \ln \lambda| < \pi, 1^\alpha = 1), \tag{1.2}$$

($|t| < \pi$ when $\lambda = 1$; $|t| < |\log(-\lambda)|$ when $\lambda \neq 1$)

and

$$\left(\frac{2t}{\lambda e^t + 1}\right)^\alpha e^{xt} = \sum_{n=0}^\infty G_n^{(\alpha)}(x; \lambda) \frac{t^n}{n!}, (|t + \ln \lambda| < \pi, 1^\alpha = 1). \tag{1.3}$$

($|t| < \pi$ when $\lambda = 1$; $|t| < |\log(-\lambda)|$ when $\lambda \neq 1$).

Upon setting $\lambda = 1$, the polynomials in (1.1) to (1.3) reduce to the classical Bernoulli, Euler, and Genocchi polynomials of order $\alpha \in \mathbb{C}$, respectively (cf. [2,6,9,13,19,20,33]):

$$B_n^{(\alpha)}(x; 1) := B_n^{(\alpha)}(x), E_n^{(\alpha)}(x; 1) := E_n^{(\alpha)}(x) \text{ and } G_n^{(\alpha)}(x; 1) := G_n^{(\alpha)}(x).$$

Also note that

$$B_n^{(1)}(x; \lambda) := B_n(x; \lambda), E_n^{(1)}(x; \lambda) := E_n(x; \lambda) \text{ and } G_n^{(1)}(x; \lambda) := G_n(x; \lambda),$$

which are familiar Apostol-Bernoulli polynomials, Apostol-Euler polynomials and the Apostol-Genocchi polynomials, respectively.

Moreover, in the following special cases,

$$B_n^{(1)}(x; 1) := B_n(x), E_n^{(1)}(x; 1) := E_n(x) \text{ and } G_n^{(1)}(x; 1) := G_n(x)$$

are called, respectively, usual Bernoulli, Euler and Genocchi polynomials (see [1-34]).

A unification of the above polynomials in (1.1) to (1.3) are introduced as follows (see [15]):

$$\left(\frac{2^\mu t^\nu}{\lambda e^t + 1}\right)^\alpha e^{xt} = \sum_{n=0}^\infty F_n^{(\alpha)}(x; \lambda; \mu, \nu) \frac{t^n}{n!}, (|t| < |\log(-\lambda)|), \tag{1.4}$$

where $\alpha \in \mathbb{N}_0, \mu, \nu \in \mathbb{C}$. Upon setting $x = 0$,

$$F_n^{(\alpha)}(0; \lambda; \mu, \nu) := F_n^{(\alpha)}(\lambda; \mu, \nu), \tag{1.5}$$

denotes the generalized Apostol type numbers of order α .

Notice that

$$(-1)^\alpha F_n^{(\alpha)}(x; -\lambda; 0, 1) = B_n^{(\alpha)}(x; \lambda), \tag{1.6}$$

$$F_n^{(\alpha)}(x; \lambda; 1, 0) = E_n^{(\alpha)}(x; \lambda) \tag{1.7}$$

and

$$F_n^{(\alpha)}(x; \lambda; 1, 1) = G_n^{(\alpha)}(x; \lambda). \tag{1.8}$$

Let $c > 0$. The generalized 2-variable 1-parameter Hermite Kampé de Fériet polynomials $H_n(x, y, c)$ are defined by (cf. [2,3])

$$e^{xt+yt^2} = \sum_{n=0}^\infty H_n(x, y, c) \frac{t^n}{n!}. \tag{1.9}$$

Letting $c = e$, it yields 2-variable Hermite Kampé de Fériet polynomials $H_n(x, y)$ (see [2,3,10-12,24-27,33]) given by

$$e^{xt+yt^2} = \sum_{n=0}^\infty H_n(x, y) \frac{t^n}{n!}. \tag{1.10}$$

By (1.9), it is readily derived that

$$H_n(x, y, c) = \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n}{j} (\ln c)^{n-j} x^{n-2j} y^j. \tag{1.11}$$

The exponential generating function for the geometric polynomials (also known as Fubini polynomials) $F_n(x)$ is given by [5,6,32]:

$$\frac{1}{1 - x(e^t - 1)} = \sum_{n=0}^{\infty} F_n(x) \frac{t^n}{n!}. \tag{1.12}$$

The geometric polynomials have also close relationships with Apostol-Bernoulli numbers $\beta_n(\lambda)$ and Apostol-Euler numbers $E_n(\lambda)$ as follows (see [6]):

$$\beta_n(\lambda) = \frac{n}{\lambda - 1} F_n\left(\frac{\lambda}{1 - \lambda}\right), \quad (\lambda \neq 1) \text{ and } E_n = F_n\left(\frac{-1}{2}\right),$$

where

$$\frac{t}{\lambda e^t - 1} = \sum_{n=0}^{\infty} \beta_n(\lambda) \frac{t^n}{n!} \text{ and } \frac{2}{\lambda e^t + 1} = \sum_{n=0}^{\infty} E_n(\lambda) \frac{t^n}{n!}. \tag{1.13}$$

The exponential generating function of the Bell (also called exponential) polynomials $\phi_n(x)$ is given by (see [3,4,29-31]):

$$e^{x(e^t - 1)} = \sum_{n=0}^{\infty} \phi_n(x) \frac{t^n}{n!} \tag{1.14}$$

and gives the following recurrence relation

$$\phi_{n+1}(x) = x\phi_n(x) + \frac{d}{dx}\phi_n(x).$$

The geometric and exponential polynomials hold the the following relationship (cf. [3,4,29-32])

$$F_n(x) = \int_0^{\infty} \phi_n(x) e^{-\lambda} d\lambda \tag{1.15}$$

Recently, for $\lambda, \mu, \nu \in \mathbb{C}$, Khan [10] introduced the generalized Apostol type Hermite-based polynomials ${}_H F_n^{(\alpha)}(x, y; \lambda, \mu, \nu; c)$ of order $\alpha \in \mathbb{N}_0$ in a suitable neighborhood $t = 0$ as follows:

$$\left(\frac{2^{\mu} t^{\nu}}{\lambda c^t + 1}\right)^{\alpha} c^{xt+yt^2} = \sum_{n=0}^{\infty} {}_H F_n^{(\alpha)}(x, y; \lambda; \mu, \nu; c) \frac{t^n}{n!}. \tag{1.16}$$

Then,

$${}_H F_n^{(\alpha)}(x, y; \lambda; \mu, \nu; c) = \sum_{m=0}^n \binom{n}{m} F_{n-m}^{(\alpha)}(\lambda; \mu, \nu) H_m(x, y; c).$$

In this study, we consider a new class of Hermite-based generalized Apostol-Bernoulli, Apostol-Euler, and Apostol-Genocchi polynomials. We then derive some basic properties and several implicit summation formulae by utilizing the series manipulation methods. We also investigate several symmetric identities, which are extensions of many earlier well-known results. Moreover, we consider a novel class of Hermite-based generalized Apostol-Bernoulli, Apostol-Euler, and Apostol-Genocchi polynomials including geometric and Bell polynomials, and give some basic properties.

2. A NEW CLASS OF GENERALIZED HERMITE-BASED APOSTOL TYPE POLYNOMIALS

Recently, for $m \in \mathbb{N}$, $\alpha, \lambda, \mu, \nu \in \mathbb{C}$ and $a, c \in \mathbb{R}^+$, Llanos et al. [14] introduced a new unified presentation of the generalized Apostol type polynomials $Q_n^{[m-1, \alpha]}(x; c, a; \lambda; \mu; \nu)$ of order α by means of the following generating function:

$$\left(\frac{(2^\mu t^\nu)^m}{\lambda c^t + \sum_{h=0}^{m-1} \frac{(t \ln a)^h}{h!}} \right)^\alpha c^{xt} = \sum_{n=0}^{\infty} Q_n^{[m-1, \alpha]}(x; c, a; \lambda; \mu; \nu) \frac{t^n}{n!}, \tag{2.1}$$

where $|t| < 2\pi$ when $\lambda = 1$, $|t| < \pi$ when $\lambda = -1$, $|t \ln(\frac{c}{a})| < |\log(-\lambda)|$ when $\lambda \in \mathbb{C} \setminus \{-1, 1\}$ and $1^\alpha := 1$. It is noted that setting $x = 0$ the polynomials given in (2.1) reduce to the corresponding numbers:

$$Q_n^{[m-1, \alpha]}(0; c, a; \lambda; \mu; \nu) \frac{t^n}{n!} := Q_n^{[m-1, \alpha]}(c, a; \lambda; \mu; \nu) \frac{t^n}{n!}.$$

Motivated and inspired by above, now, we introduce a unification of generalized Apostol type Hermite-Bernoulli, Apostol type Hermite-Euler and Apostol type Hermite-Genocchi polynomials ${}_H Q_n^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu)$, $m \geq 1$ (2VHBTAP) for a real or complex parameter α in a suitable neighborhood of $t = 0$ by means of the following generating function:

$$\left(\frac{(2^\mu t^\nu)^m}{\lambda c^t + \sum_{h=0}^{m-1} \frac{(t \ln a)^h}{h!}} \right)^\alpha c^{xt+yt^2} = \sum_{n=0}^{\infty} {}_H Q_n^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^n}{n!}, \tag{2.2}$$

which contains not only generalized Apostol type polynomials $Q_n^{[m-1, \alpha]}(x; c, a; \lambda; \mu; \nu)$, but also Kampé de Fériet generalization of the Hermite polynomials $H_n(x, y)$ in Eq.(1.9).

By substituting $x = y = 0$ in (2.2), we obtain the numbers $Q_n^{[m-1, \alpha]}(c, a; \lambda; \mu; \nu)$, $m \geq 1$ given by

$$\left(\frac{2^\mu t^\nu}{\lambda c^t + \sum_{h=0}^{m-1} \frac{(t \ln a)^h}{h!}} \right)^\alpha = \sum_{n=0}^{\infty} Q_n^{[m-1, \alpha]}(c, a; \lambda; \mu; \nu) \frac{t^n}{n!}. \tag{2.3}$$

Remark 1. When $\lambda \rightarrow -\lambda, \mu = 0, \nu = 1$ and $c = e$, the polynomials ${}_H Q_n^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu)$ reduces to Hermite-based Apostol Bernoulli polynomials. When $\mu = 1, \nu = 0$ and $c = e$, the polynomials ${}_H Q_n^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu)$ reduces to Hermite-based Apostol Euler polynomials. When $\mu = \nu = 1$ and $c = e$, the polynomials ${}_H Q_n^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu)$ reduces to Hermite-based Apostol Genocchi polynomials.

By (1.9) and (2.2), we have the following relationship

$${}_H Q_n^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu) = \sum_{r=0}^n \binom{n}{r} Q_n^{[m-1, \alpha]}(c, a; \lambda; \mu; \nu) H_r(x, y; c), \tag{2.4}$$

which is a generalization of the following familiar results (see Kurt [12]):

$$B_n(x, y) = \sum_{r=0}^n \binom{n}{r} B_{n-r} H_r(x, y) \tag{2.5}$$

and

$$H_n(x, y) = \sum_{r=0}^n \binom{n}{r} \frac{1}{(n-r+1)} B_r(x, y). \tag{2.6}$$

A summation representation of $H_n(x, y; c)$ in terms of ${}_H Q_n^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu)$ for $\alpha = 1$ is given by the following theorem.

Theorem 1. For $n \geq 0$, we have

$$\begin{aligned}
 H_n(x, y; c) &= \frac{n!}{(n+vm)!} \sum_{k=0}^{n+vm} \binom{n+vm}{k} \lambda \frac{((\ln c)^{n+vm-k} + (\ln a)^{n+vm-k})}{2^{\mu m}} {}_H Q_k^{[m-1,1]}(x, y; c, a; \lambda; \mu; \nu) \\
 &\quad - \frac{n!}{(n+vm)! 2^{\mu m}} \sum_{k=0}^{n+vm-m} \binom{n+vm}{k} (\ln a)^{k+m} {}_H Q_{n+m-v-m-k}^{[m-1,1]}(x, y; c, a; \lambda; \mu; \nu). \tag{2.7}
 \end{aligned}$$

Proof. From (2.2) and we gete

$$\begin{aligned}
 c^{xt+yt^2} &= \frac{\lambda c^t + \sum_{h=0}^{m-1} \frac{(t \ln a)^h}{h!}}{2^{\mu m} t^{\nu m}} \sum_{n=0}^{\infty} {}_H Q_n^{[m-1,1]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^n}{n!} \\
 &= \frac{\lambda}{2^{\mu m} t^{\nu m}} \left(\sum_{n=0}^{\infty} (\ln c)^n \frac{t^n}{n!} \right) \sum_{n=0}^{\infty} {}_H Q_n^{[m-1,1]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^n}{n!} \\
 &\quad + \frac{1}{2^{\mu m} t^{\nu m}} \sum_{h=0}^{m-1} \frac{(\ln a)^h}{h!} t^h \sum_{n=0}^{\infty} {}_H Q_n^{[m-1,1]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^n}{n!},
 \end{aligned}$$

which yields

$$\begin{aligned}
 c^{xt+yt^2} &= \frac{\lambda}{2^{\mu m}} \sum_{n=0}^{\infty} \sum_{k=0}^n \binom{n}{k} (\ln c)^{n-k} {}_H Q_k^{[m-1,1]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^{n-vm}}{n!} \\
 &\quad + \frac{1}{2^{\mu m}} \sum_{n=0}^{\infty} \sum_{k=0}^n \binom{n}{k} (\ln a)^{n-k} {}_H Q_k^{[m-1,1]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^{n-vm}}{n!} \\
 &\quad - \frac{1}{2^{\mu m}} \sum_{n=0}^{\infty} \sum_{k=0}^n \binom{n+m}{k} (\ln a)^{k+m} {}_H Q_{n-k}^{[m-1,1]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^{n+m-vm}}{(n+m)!}. \tag{2.8}
 \end{aligned}$$

Then, utilizing (1.11) and (2.8), we have

$$\begin{aligned}
 \sum_{n=0}^{\infty} H_n(x, y; c) \frac{t^n}{n!} &= \frac{\lambda}{2^{\mu m}} \sum_{n=0}^{\infty} \sum_{k=0}^n \binom{n}{k} ((\ln c)^{n-k} + (\ln a)^{n-k}) {}_H Q_k^{[m-1,1]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^{n-vm}}{n!} \\
 &\quad - \frac{1}{2^{\mu m}} \sum_{n=0}^{\infty} \sum_{k=0}^n \binom{n+m}{k} (\ln a)^{k+m} {}_H Q_{n-k}^{[m-1,1]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^{n+m-vm}}{(n+m)!} \tag{2.9}
 \end{aligned}$$

which means the asserted result (2.7). □

We give some special cases of Theorem 1 as follows.

Remark 2. For $m = \nu = 1$ in Theorem 1, we have

$$H_n(x, y; c) = \frac{1}{n+1} [\lambda \Psi_{n+1}(x+1, y) + \Psi_{n+1}(x, y)], \tag{2.10}$$

where $\Psi_n(x, y) := {}_H Y_n^{[0,1]}(x, y; c, a; \lambda; 0; 1)$.

Remark 3. Setting $m = -\lambda = \nu = 1$, $u = a = 0$ and $c = e$ in Theorem 1 gives the well known result of Kurt [12] for $H_n(x, y)$ as follows

$$H_n(x, y) = \frac{1}{n+1} [{}_H B_{n+1}(x+1, y) + {}_H B_{n+1}(x, y)], \tag{2.11}$$

where ${}_H B_n(x, y)$ is the n -th Hermite-Bernoulli polynomial defined by (see [8]):

$$\frac{t}{e^t - 1} e^{xt+yt^2} = \sum_{n=0}^{\infty} {}_H B_n(x, y) \frac{t^n}{n!}.$$

Remark 4. For $m = -\lambda = \nu = 1$, $y = u = a = 0$ and $c = e$, the result in Theorem 1 is an extension of the known result of Kim et al. [11]:

$$x^n = \frac{B_{n+1}(x+1) + B_{n+1}(x)}{n+1}.$$

Theorem 2. Let $p, q \in \mathbb{R}$, $\alpha \in \mathbb{C}$ and $m \in \mathbb{N}$. The polynomials ${}_H Q_n^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu)$ satisfy the following relation:

$$\begin{aligned} {}_H Q_n^{[m-1, \alpha]}(px, qy; c, a; \lambda; \mu; \nu) &= n! \sum_{k=0}^n \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} {}_H Q_{n-k}^{[m-1, \alpha]}(px, qy; c, a; \lambda; \mu; \nu) \\ &\quad \times (\ln c(p-1)x)^k (\ln c(q-1)y)^j \frac{1}{(n-k-2j)!j!}. \end{aligned} \tag{2.12}$$

Proof. By (2.2), we derive

$$\begin{aligned} \Theta &= \sum_{n=0}^{\infty} {}_H Q_n^{[m-1, \alpha]}(px, qy; c, a; \lambda; \mu; \nu) \frac{t^n}{n!} = \left(\frac{(2^\mu t^\nu)^m}{\lambda c^t + \sum_{h=0}^{m-1} \frac{(t \ln a)^h}{h!}} \right)^\alpha e^{xt+yt^2} c^{(p-1)xt} c^{(q-1)yt^2} \\ &= \left(\sum_{n=0}^{\infty} {}_H Q_n^{[m-1, \alpha]}(px, qy; c, a; \lambda; \mu; \nu) \frac{t^n}{n!} \right) \left(\sum_{k=0}^{\infty} (\ln c(p-1)x)^k \frac{t^k}{k!} \right) \left(\sum_{j=0}^{\infty} (\ln c(q-1)y)^j \frac{t^{2j}}{j!} \right) \\ &= \left(\sum_{n=0}^{\infty} {}_H Q_n^{[m-1, \alpha]}(px, qy; c, a; \lambda; \mu; \nu) \frac{t^n}{n!} \right) \sum_{k=0}^{\infty} \sum_{j=0}^{\infty} (\ln c(p-1)x)^k (\ln c(q-1)y)^j \frac{t^{k+2j}}{n!k!j!}. \end{aligned}$$

Replacing k by $k - 2j$, we have

$$\begin{aligned} \Theta &= \left(\sum_{n=0}^{\infty} {}_H Q_n^{[m-1, \alpha]}(px, qy; c, a; \lambda; \mu; \nu) \frac{t^n}{n!} \right) \sum_{k=2j}^{\infty} (\ln c(p-1)x)^{k-2j} (\ln c(q-1)y)^j \frac{t^k}{(k-2j)!j!} \\ &= \sum_{n=0}^{\infty} \sum_{k=2j}^{\infty} {}_H Q_n^{[m-1, \alpha]}(px, qy; c, a; \lambda; \mu; \nu) (\ln c(p-1)x)^{k-2j} (\ln c(q-1)y)^j \frac{t^{n+k}}{(k-2j)!j!n!}. \end{aligned}$$

Again replacing n by $n - k$, we have

$$\Theta = \sum_{n=0}^{\infty} \sum_{k=0}^n \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} {}_H Q_{n-k}^{[m-1, \alpha]}(px, qy; c, a; \lambda; \mu; \nu) (\ln c(p-1)x)^{k-2j} (\ln c(q-1)y)^j \frac{t^n}{(n-k-2j)!j!k!}.$$

Finally equating the coefficients of t^n of both sides, we get the asserted result (2.12). □

The second generalization of the Apostol type polynomials, Bell polynomials and Hermite polynomials which we wish to consider is given by the following generating function:

$$\left(\frac{2^\mu t^\nu}{\lambda c^t + \sum_{h=0}^{m-1} \frac{(t \ln a)^h}{h!}} \right)^\alpha e^{x(t+c^t-1)+yt^2} = \sum_{n=0}^{\infty} {}_\phi Q_n^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^n}{n!}. \tag{2.13}$$

The clue to seeing a relation between Apostol type polynomials, Bell polynomials and Hermite polynomials such as (1.9), (1.10) and (2.1) and the special cases of (2.2) is given in the following theorem.

Theorem 3. For $n \geq 0$, we have

$${}_{\phi}Q_n^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu) = \sum_{r=0}^n \binom{n}{r} \phi_r(x; c) {}_{\phi}Q_{n-r}^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu). \tag{2.14}$$

Proof. The proof is similar to the proof of Theorem 1. So, we omit it. □

The third generalization of the Apostol type polynomials including Fubini polynomials and Hermite polynomials is provided by the following generating function:

$$\left(\frac{2^{\mu} t^{\nu}}{\lambda c^t + \sum_{h=0}^{m-1} \frac{(t \ln a)^h}{h!}} \right)^{\alpha} \frac{e^{xt+yt^2}}{1 - z(c^t - 1)} = \sum_{n=0}^{\infty} {}_FQ_n^{[m-1, \alpha]}(x, y; z; c, a; \lambda; \mu; \nu) \frac{t^n}{n!}. \tag{2.15}$$

The following theorems are given without their proofs.

Theorem 4. For $n \geq 0$, we have

$${}_FQ_n^{[m-1, \alpha]}(x, y; z; c, a; \lambda; \mu; \nu) = \sum_{r=0}^n \binom{n}{r} F_r(z; c) Q_{n-r}^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu), \tag{2.16}$$

where the extended Fubini polynomials $F_n(z; c)$ extensions of (1.12) are given by (cf. [5,6])

$$\frac{1}{1 - z(c^t - 1)} = \sum_{n=0}^{\infty} F_n(z; c) \frac{t^n}{n!}.$$

Theorem 5. For $n \geq 0$, we have

$${}_FQ_n^{[m-1, \alpha]}(x, y; z; c, a; \lambda; \mu; \nu) = \sum_{r=0}^n \binom{n}{r} {}_F H_r(x, y; z; c) Q_{n-r}^{[m-1, \alpha]}(c, a; \lambda; \mu; \nu), \tag{2.17}$$

where the extended Fubini-Hermite polynomials ${}_F H_n(x, y; z; c)$ are given by

$$\frac{e^{xt+yt^2}}{1 - z(c^t - 1)} = \sum_{n=0}^{\infty} {}_F H_n(x, y; z; c) \frac{t^n}{n!}. \tag{2.18}$$

The formula (2.17) is an extension of the following known formula:

$${}_F H_r(x, y; z; c) = \sum_{r=0}^n \binom{n}{r} F_r(z; c) H_{n-r}(x, y; c). \tag{2.19}$$

Now, we give the following theorem.

Theorem 6. For $n \geq 0$, we have

$${}_FQ_n^{[m-1, \alpha]}(x, y; z; a; \lambda; \mu; \nu) = \sum_{l=0}^n \sum_{k=0}^l \binom{n}{l} {}_H Q_{n-l}^{[m-1, \alpha]}(x, y; a; \lambda; \mu; \nu) k! z^k S_2(l, k). \tag{2.20}$$

Proof. By (2.2), we obtain

$$\sum_{n=0}^{\infty} {}_FQ_n^{[m-1, \alpha]}(x, y; z; a; \lambda; \mu; \nu) \frac{t^n}{n!} = \left(\frac{(2^{\mu} t^{\nu})^m}{\lambda e^t + \sum_{h=0}^{m-1} \frac{(t \ln a)^h}{h!}} \right)^{\alpha} \frac{e^{xt+yt^2}}{1 - z(e^t - 1)}$$

$$\begin{aligned}
 &= \left(\frac{(2^\mu t^\nu)^m}{\lambda e^t + \sum_{h=0}^{m-1} \frac{(t \ln a)^h}{h!}} \right)^\alpha e^{xt+yt^2} \sum_{k=0}^{\infty} z^k \sum_{l=k}^{\infty} k! S_2(l, k) \frac{t^l}{l!} \\
 &= \left(\sum_{n=0}^{\infty} {}_H Q_n^{[m-1; \alpha]}(x, y; a; \lambda; \mu; \nu) \frac{t^n}{n!} \right) \left(\sum_{l=0}^{\infty} z^k \sum_{k=0}^l k! S_2(l, k) \frac{t^l}{l!} \right). \tag{2.21}
 \end{aligned}$$

Applying Cauchy product in (2.21), we attain

$$\begin{aligned}
 &\sum_{n=0}^{\infty} {}_F Q_n^{[m-1; \alpha]}(x, y; z; a; \lambda; \mu; \nu) \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{l} {}_H Q_{n-l}^{[m-1; \alpha]}(x, y; a; \lambda; \mu; \nu) \sum_{k=0}^l z^k k! S_2(l, k) \right) \frac{t^n}{n!},
 \end{aligned}$$

which means the claimed result (2.20). □

Theorem 7. For $n \geq 0$, we have

$${}_F Q_n^{[m-1; \alpha]}(x+r, y; z; a; \lambda; \mu; \nu) = \sum_{l=0}^n \sum_{k=0}^l \binom{n}{l} {}_H Q_{n-l}^{[m-1; \alpha]}(x, y; a; \lambda; \mu; \nu) z^k k! S_2(l+r, k+r), \tag{2.22}$$

where $S_2(l+r, k+r)$ denotes the r -Stirling numbers defined by

$$\sum_{l=k}^{\infty} S_2(l+r, k+r) \frac{t^l}{l!} = \frac{(e^t - 1)^k}{k!} e^{rt}, \text{ cf. [2, 26].}$$

Proof. Replacing x by $x+r$ in (2.21) and using [7, p. 250, Theorem 16], we have

$$\begin{aligned}
 \sum_{n=0}^{\infty} {}_F Q_n^{[m-1; \alpha]}(x+r, y; z; a; \lambda; \mu; \nu) \frac{t^n}{n!} &= \left(\frac{(2^\mu t^\nu)^m}{\lambda e^t + \sum_{h=0}^{m-1} \frac{(t \ln a)^h}{h!}} \right)^\alpha \frac{e^{(x+r)t+yt^2}}{1 - z(e^t - 1)} \\
 &= \left(\frac{(2^\mu t^\nu)^m}{\lambda e^t + \sum_{h=0}^{m-1} \frac{(t \ln a)^h}{h!}} \right)^\alpha e^{xt+yt^2} e^{rt} \sum_{k=0}^{\infty} z^k \sum_{l=k}^{\infty} k! S_2(l, k) \frac{t^l}{l!} \\
 &= \left(\sum_{n=0}^{\infty} {}_H Q_n^{[m-1; \alpha]}(x, y; a; \lambda; \mu; \nu) \frac{t^n}{n!} \right) \left(\sum_{l=0}^{\infty} z^k \sum_{k=0}^l k! S_2(l+r, k+r) \frac{t^l}{l!} \right),
 \end{aligned}$$

which implies the asserted result (2.22). □

3. IMPLICIT SUMMATION FORMULAE INVOLVING GENERALIZED APOSTOL TYPE POLYNOMIALS

In this section, we investigate some implicit summation formulae for the generalized Apostol type polynomials ${}_H Q_n^{[m-1; \alpha]}(x, y; c, a; \lambda; \mu; \nu)$ as follows.

We first give the following theorem.

Theorem 8. *The following implicit summation formula*

$${}_H Q_{q+l}^{[m-1,\alpha]}(z, y; c, a; \lambda; \mu; \nu) = \sum_{n,p=0}^{q,l} \binom{q}{n} \binom{l}{p} (\ln c)^{n+p} (z-x)^{n+p} {}_H Q_{q+l-p-n}^{[m-1,\alpha]}(x, y; c, a; \lambda; \mu; \nu) \tag{3.1}$$

holds.

Proof. Replacing t by $t + u$ in (2.2), we see that

$$\left(\frac{(2^\mu(t+u)^\nu)^m}{\lambda c^{t+u} + \sum_{h=0}^{m-1} \frac{((t+u) \ln a)^h}{h!}} \right)^\alpha c^{y(t+u)^2} = c^{-x(t+u)} \sum_{q,l=0}^{\infty} {}_H Q_{q+l}^{[m-1,\alpha]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^q}{q!} \frac{u^l}{l!}. \tag{3.2}$$

Again replacing x by z in the last equation and equating the resulting equation to (3.2), we get

$$c^{(z-x)(t+u)} \sum_{q,l=0}^{\infty} {}_H Q_{q+l}^{[m-1,\alpha]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^q}{q!} \frac{u^l}{l!} = \sum_{q,l=0}^{\infty} {}_H Q_{q+l}^{[m-1,\alpha]}(z, y; c, a; \lambda; \mu; \nu) \frac{t^q}{q!} \frac{u^l}{l!}. \tag{3.3}$$

On expanding exponential function (3.3) gives

$$\begin{aligned} \sum_{N=0}^{\infty} (\ln c)^N \frac{[(z-x)(t+u)]^N}{N!} \sum_{q,l=0}^{\infty} {}_H Q_{q+l}^{[m-1,\alpha]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^q}{q!} \frac{u^l}{l!} \\ = \sum_{q,l=0}^{\infty} {}_H Q_{q+l}^{[m-1,\alpha]}(z, y; c, a; \lambda; \mu; \nu) \frac{t^q}{q!} \frac{u^l}{l!}. \end{aligned} \tag{3.4}$$

Then, using the following series manipulation formula

$$\sum_{N=0}^{\infty} f(N) \frac{(x+y)^N}{N!} = \sum_{n,m=0}^{\infty} f(n+m) \frac{x^n}{n!} \frac{y^m}{m!}, \tag{3.5}$$

The equality (3.4) becomes

$$\begin{aligned} \sum_{n,p=0}^{\infty} (\ln c)^{n+p} \frac{(z-x)^{n+p} t^n u^p}{n! p!} \sum_{q,l=0}^{\infty} {}_H Q_{q+l}^{[m-1,\alpha]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^q}{q!} \frac{u^l}{l!} \\ = \sum_{q,l=0}^{\infty} {}_H Q_{q+l}^{[m-1,\alpha]}(z, y; c, a; \lambda; \mu; \nu) \frac{t^q}{q!} \frac{u^l}{l!}. \end{aligned} \tag{3.6}$$

Now replacing q by $q - n$ and l by $l - p$, and using the lemma [26, p.100] in the left hand side of (3.6), we get

$$\begin{aligned} \sum_{q,l=0}^{\infty} \sum_{n,p=0}^{q,l} \frac{(z-x)^{n+p} (\ln c)^{n+p}}{n! p!} {}_H Q_{q+l-n-p}^{[m-1,\alpha]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^q}{(q-n)!} \frac{u^l}{(l-p)!} \\ = \sum_{q,l=0}^{\infty} {}_H Q_{q+l}^{[m-1,\alpha]}(z, y; c, a; \lambda; \mu; \nu) \frac{t^q}{q!} \frac{u^l}{l!}, \end{aligned} \tag{3.7}$$

which means the asserted result (3.1). □

Remark 5. *Choosing $l = 0$ in assertion (3.1), the following implicit summation formulae for Apostol type Hermite polynomials holds:*

$${}_H Q_q^{[m-1,\alpha]}(z, y; c, a; \lambda; \mu; \nu) = \sum_{n=0}^q \binom{q}{n} (\ln c)^{n+p} (z-x)^{n+p} Q_{q-n}^{[m-1,\alpha]}(x, y; c, a; \lambda; \mu; \nu). \tag{3.8}$$

Remark 6. Choosing $l = 0$ and replacing z by $z + x$ in (3.1), we acquire

$${}_H Q_q^{[m-1,\alpha]}(z + x, y; c, a; \lambda; \mu; \nu) = \sum_{n=0}^q \binom{q}{n} (\ln c)^{n+p} z^{n+p} {}_H Q_{q-n}^{[m-1,\alpha]}(x, y; c, a; \lambda; \mu; \nu). \tag{3.9}$$

We provide the following summation formulae stated in Theorem 9, Theorem 10 and Theorem 11.

Theorem 9. The following implicit summation formula

$${}_H Q_n^{[m-1,\alpha]}(x + z, y + u; c, a; \lambda; \mu; \nu) = \sum_{s=0}^n \binom{n}{s} {}_H Q_{n-s}^{[m-1,\alpha]}(x, y; c, a; \lambda; \mu; \nu) H_s(z, u; c) \tag{3.10}$$

holds.

Proof. Replacing x by $x + z$ and y by $y + u$ in (2.2), and in view of (1.9), we acquire

$$\begin{aligned} \left(\frac{(2\mu t^\nu)^m}{\lambda c^t + \sum_{h=0}^{m-1} \frac{(t \ln a)^h}{h!}} \right)^\alpha c^{(x+z)t+(y+u)t^2} &= \sum_{n=0}^\infty {}_H Q_n^{[m-1,\alpha]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^n}{n!} \sum_{s=0}^\infty H_s(z, u; c) \frac{t^s}{s!} \\ &= \sum_{n=0}^\infty {}_H Q_n^{[m-1,\alpha]}(x + z, y + u; c, a; \lambda; \mu; \nu) \frac{t^n}{n!}, \end{aligned} \tag{3.11}$$

which implies claimed result (3.10). □

Theorem 10. The following formula

$${}_H Q_n^{[m-1,\alpha]}(x, y; c, a; \lambda; \mu; \nu) = \sum_{r=0}^n \binom{n}{r} {}_H Q_{n-r}^{[m-1,\alpha]}(x - z; c, a; \lambda; \mu; \nu) H_r(z, y; c) \tag{3.12}$$

is valid.

Proof. By (1.9) and (2.2), we consider

$$\left(\frac{2\mu t^\nu}{\lambda c^t + \sum_{h=0}^{m-1} \frac{(t \ln a)^h}{h!}} \right)^\alpha c^{(x-z)t} c^{zt+yt^2} = \sum_{n=0}^\infty Q_n^{[m-1,\alpha]}(x - z; c, a; \lambda; \mu; \nu) \frac{t^n}{n!} \sum_{r=0}^\infty H_r(z, y; c) \frac{t^r}{r!}, \tag{3.13}$$

which gives

$$\sum_{n=0}^\infty {}_H Q_n^{[m-1,\alpha]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^n}{n!} = \sum_{n=0}^\infty \sum_{r=0}^n Q_{n-r}^{[m-1,\alpha]}(x - z; c, a; \lambda; \mu; \nu) H_r(z, y; c) \frac{t^n}{(n-r)!r!},$$

which means the asserted result (3.12). □

Theorem 11. The following implicit summation formula

$${}_H Q_n^{[m-1,\alpha]}(x + 1, y; c, a; \lambda; \mu; \nu) = \sum_{r=0}^n \binom{n}{r} (\ln c)^r {}_H Q_{n-r}^{[m-1,\alpha]}(x, y; c, a; \lambda; \mu; \nu) \tag{3.14}$$

holds.

Proof. From (2.2), we see that

$$\sum_{n=0}^\infty {}_H Q_n^{[m-1,\alpha]}(x + 1, y; c, a; \lambda; \mu; \nu) \frac{t^n}{n!} = \sum_{n=0}^\infty {}_H Q_n^{[m-1,\alpha]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^n}{n!}$$

$$\begin{aligned}
 &= \left(\frac{2^\mu t^\nu}{\lambda e^t + \sum_{h=0}^{m-1} \frac{(tlna)^h}{h!}} \right)^\alpha (c^t - 1)c^{xt+yt^2} = \sum_{n=0}^{\infty} {}_H Q_n^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^n}{n!} \left(\sum_{r=0}^{\infty} (\ln c)^r \frac{t^r}{r!} - 1 \right) \\
 &= \sum_{n=0}^{\infty} {}_H Q_n^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^n}{n!} \sum_{r=0}^{\infty} (\ln c)^r \frac{t^r}{r!} - \sum_{n=0}^{\infty} {}_H Q_n^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \sum_{r=0}^n \binom{n}{r} (\ln c)^r {}_H Q_{n-r}^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^n}{n!} - \sum_{n=0}^{\infty} {}_H Q_n^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu) \frac{t^n}{n!},
 \end{aligned}$$

which means the desired result (3.14). □

4. SOME SYMMETRIC IDENTITIES for ${}_H Q_n^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu)$

In this section, we give some symmetry identities for the generalized Hermite-based Apostol type polynomials ${}_H Q_n^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu)$ by applying the generating function (2.1) and (2.2). The results derived in this section extend some known identities provided by Kim et al. [12], Khan [10], Pathan and Khan [24-26].

Let

$$A(t) = \left(\frac{((pq)^\nu 2^{2\mu} t^{2\nu})^m}{(\lambda c^{pt} + \sum_{h=0}^{m-1} \frac{(tlna)^h}{h!})(\lambda c^{qt} + \sum_{h=0}^{m-1} \frac{(tlna)^h}{h!})} \right)^\alpha, \tag{4.1}$$

$$B(t) = \left(\frac{(2^\mu p^\nu t^\nu)^m}{(\lambda c^{pt} + \sum_{h=0}^{m-1} \frac{(tlna)^h}{h!})} \right)^\alpha \tag{4.2}$$

and

$$C(t) = \left(\frac{(2^\mu q^\nu t^\nu)^m}{(\lambda c^{qt} + \sum_{h=0}^{m-1} \frac{(tlna)^h}{h!})} \right)^\alpha. \tag{4.3}$$

By means of (4.1), (4.2) and (4.3), we give the following theorem.

Theorem 12. *The following symmetric identity*

$$\begin{aligned}
 &\sum_{r=0}^n \binom{n}{r} q^r p^{n-r} {}_H Q_{n-r}^{[m-1, \alpha]}(qx, q^2y; c, a; \lambda; \mu; \nu) {}_H Q_r^{[m-1, \alpha]}(px, p^2y; \lambda; \mu; \nu) \\
 &= \sum_{r=0}^n \binom{n}{r} p^r q^{n-r} {}_H Q_{n-r}^{[m-1, \alpha]}(px, p^2y; c, a; \lambda; \mu; \nu) {}_H Q_r^{[m-1, \alpha]}(qx, q^2y; c, a; \lambda; \mu; \nu)
 \end{aligned} \tag{4.4}$$

holds for $\alpha \in \mathbb{N}_0$, $x, y \in \mathbb{R}$ and $n \geq 0$.

Proof. Let

$$\Upsilon = A(t)c^{pqrt+p^2q^2yt^2}.$$

Then, the expression for Υ is symmetric in a and b and we can expand Υ into series in two ways:

$$\Upsilon = \sum_{n=0}^{\infty} {}_H Q_n^{[m-1, \alpha]}(qx, q^2y; c, a; \lambda; \mu; \nu) \frac{(pt)^n}{n!} \sum_{r=0}^{\infty} {}_H Q_r^{[m-1, \alpha]}(px, p^2y; c, a; \lambda; \mu; \nu) \frac{(qt)^r}{r!}$$

$$= \sum_{n=0}^{\infty} \left(\sum_{r=0}^n \binom{n}{r} q^r p^{n-r} {}_H Q_{n-r}^{[m-1, \alpha]}(qx, q^2y; c, a; \lambda; \mu; \nu) {}_H Q_r^{[m-1, \alpha]}(px, p^2y; c, a; \lambda; \mu; \nu) \right) \frac{t^n}{n!} \tag{4.5}$$

and similarly,

$$\begin{aligned} \Upsilon &= \sum_{n=0}^{\infty} {}_H Q_n^{[m-1, \alpha]}(px, p^2y; c, a; \lambda; \mu; \nu) \frac{(qt)^n}{n!} \sum_{r=0}^{\infty} {}_H Q_r^{[m-1, \alpha]}(qx, q^2y; c, a; \lambda; \mu; \nu) \frac{(pt)^r}{r!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{r=0}^n \binom{n}{r} p^r q^{n-r} {}_H Q_{n-r}^{[m-1, \alpha]}(px, p^2y; c, a; \lambda; \mu; \nu) {}_H Q_r^{[m-1, \alpha]}(qx, q^2y; c, a; \lambda; \mu; \nu) \right) \frac{t^n}{n!}, \end{aligned} \tag{4.6}$$

which implies the desired result (4.4). □

Here is another symmetric identity for ${}_H Q_r^{[m-1, \alpha]}(x, y; c, a; \lambda; \mu; \nu)$ as follows.

Theorem 13. *Let $\alpha \in \mathbb{N}_0$, $p, q \in \mathbb{R} \setminus \{0\}$; $\lambda \in \mathbb{C}$ and $x, y \in \mathbb{R}$ and $n \geq 0$, then the following identity holds:*

$$\begin{aligned} &\sum_{r=0}^n \binom{n}{r} \sum_{i=0}^{p-1} \sum_{j=0}^{q-1} p^{n-r} q^r {}_H Q_{n-r}^{[m-1, \alpha]} \left(qx + \frac{q}{p}i + j, q^2z; c, a; \lambda; \mu; \nu \right) Q_r^{[m-1, \alpha]}(py; c, a; \lambda; \mu; \nu) \\ &= \sum_{r=0}^n \binom{n}{r} \sum_{j=0}^{q-1} q^{n-r} p^r {}_H Q_{n-r}^{[m-1, \alpha]} \left(px + \frac{p}{q}i + j, p^2z; c, a; \lambda; \mu; \nu \right) Q_r^{[m-1, \alpha]}(qy; c, a; \lambda; \mu; \nu). \end{aligned} \tag{4.7}$$

Proof. Let

$$\begin{aligned} \Psi &= A(t) \frac{1 + \lambda(-1)^{p+1} c^{pqt}}{(\lambda c^{pt} + 1)(\lambda c^{qt} + 1)} c^{pq(x+y)t + p^2q^2zt^2} \\ &= B(t) c^{pqxt + p^2q^2zt^2} \left(\frac{1 - \lambda(c^{-qt})^p}{\lambda c^{qt} + 1} \right) C(t) c^{pqyt} \left(\frac{1 - \lambda(c^{-pt})^q}{\lambda c^{pt} + 1} \right), \end{aligned}$$

which yields

$$\begin{aligned} \Psi &= B(t) c^{pqxt + p^2q^2zt^2} \sum_{i=0}^{p-1} (-\lambda)^i c^{qti} C(t) e^{cdyt} \sum_{j=0}^{q-1} (-\lambda)^j c^{ptj} \\ &= B(t) c^{p^2q^2zt^2} \sum_{i=0}^{p-1} \sum_{j=0}^{q-1} (-\lambda)^{i+j} c^{(qx + \frac{q}{p}i + j)pt} \sum_{r=0}^{\infty} Q_r^{[m-1, \alpha]}(py; c, a; \lambda; \mu; \nu) \frac{(qt)^r}{r!} \\ &= \sum_{n=0}^{\infty} \sum_{r=0}^n \binom{n}{r} \sum_{i=0}^{p-1} \sum_{j=0}^{q-1} p^{n-r} q^r {}_H Q_{n-r}^{[m-1, \alpha]} \left(qx + \frac{q}{p}i + j, q^2z; c, a; \lambda; \mu; \nu \right) \\ &\quad \times Q_r^{[m-1, \alpha]}(py; c, a; \lambda; \mu; \nu) \frac{t^n}{n!}. \end{aligned} \tag{4.9}$$

On the other hand, we attain

$$\begin{aligned} \Psi &= \sum_{n=0}^{\infty} \sum_{r=0}^n \binom{n}{r} \sum_{i=0}^{p-1} \sum_{j=0}^{q-1} q^{n-r} p^r {}_H Q_{n-r}^{[m-1, \alpha]} \left(px + \frac{p}{q}i + j, p^2z; c, a; \lambda; \mu; \nu \right) \\ &\quad \times Q_r^{[m-1, \alpha]}(qy; c, a; \lambda; \mu; \nu) \frac{t^n}{n!}. \end{aligned} \tag{4.10}$$

By means of (4.9) and (4.10), we obtain the claimed result (4.7). □

Theorem 14. Let a and b be two integers and $n \geq 0$. Then the following identity

$$\begin{aligned} & \sum_{r=0}^n \binom{n}{r} \sum_{i=0}^{p-1} \sum_{j=0}^{q-1} p^{n-r} q^r {}_H Q_{n-r}^{[m-1, \alpha]} \left(qx + \frac{q}{p}i, q^2z; c, a; \lambda; \mu; \nu \right) Q_r^{[m-1, \alpha]} \left(py + \frac{p}{q}j; c, a; \lambda; \mu; \nu \right) \\ &= \sum_{r=0}^n \binom{n}{r} \sum_{i=0}^{p-1} \sum_{j=0}^{q-1} q^{n-r} p^r {}_H Q_{n-r}^{[m-1, \alpha]} \left(px + \frac{p}{q}i, p^2z; c, a; \lambda; \mu; \nu \right) Q_r^{[m-1, \alpha]} \left(qy + \frac{q}{p}j; c, a; \lambda; \mu; \nu \right) \end{aligned} \quad (4.11)$$

holds.

Proof. We rewrite (4.8) in the following form

$$\begin{aligned} \Psi &= \sum_{n=0}^{\infty} \sum_{r=0}^n \binom{n}{r} \sum_{i=0}^{p-1} \sum_{j=0}^{q-1} p^{n-r} q^r {}_H Q_{n-r}^{[m-1, \alpha]} \left(qx + \frac{q}{p}i, q^2z; c, a; \lambda; \mu; \nu \right) \\ &\quad \times Q_r^{[m-1, \alpha]} \left(py + \frac{p}{q}j; c, a; \lambda; \mu; \nu \right) \frac{t^n}{n!} \end{aligned} \quad (4.12)$$

and also

$$\begin{aligned} \Psi &= \sum_{n=0}^{\infty} \sum_{r=0}^n \binom{n}{r} \sum_{i=0}^{p-1} \sum_{j=0}^{q-1} q^{n-r} p^r {}_H Q_{n-r}^{[m-1, \alpha]} \left(px + \frac{p}{q}i, p^2z; c, a; \lambda; \mu; \nu \right) \\ &\quad \times Q_r^{[m-1, \alpha]} \left(qy + \frac{q}{p}j; c, a; \lambda; \mu; \nu \right) \frac{t^n}{n!}. \end{aligned} \quad (4.13)$$

By (4.12) and (4.13), we get the asserted result (4.11). □

5. CONCLUSIONS

In the presented paper, we have considered a new class of Hermite-based generalized Apostol-Bernoulli, Apostol-Euler and Apostol-Genocchi polynomials. Then, we have investigated some basic properties and several implicit summation formulae by using series manipulation methods. Also, we have derived diverse symmetric identities, which are extensions of many earlier well-known results in [10,12,24-26]. Moreover, we have introduced a novel class of Hermite-based generalized Apostol-Bernoulli, Apostol-Euler and Apostol-Genocchi polynomials including geometric and Bell polynomials, and have given some basic properties.

5.1. **Acknowledgements.** Not applicable.

5.2. **Funding.** This research received no external funding.

5.3. **Availability of data and materials.** Not applicable.

5.4. **Author Contributions.** All authors contributed equally to the manuscript and typed, read, and approved the final manuscript.

5.5. **Conflict of Interest.** The authors declare no conflict of interest.

References

- [1] Apostol, T.M. On the Lerch Zeta function, *Pacific J. Math.*, V.1, 1951, pp.161-167.
- [2] Andrews, L. C, Special functions for engineers and applied mathematicians, Macmillan Co. New York, 1985.
- [3] Bell, E. T, Exponential polynomials, *Ann. of Math.*, 35(1934), 258-277; available online at <https://doi.org/10.2307/1968431>.
- [4] Berndt, B. C, Ramanujan's Notebooks, Part I, Springer, New York, U.S.A., 1985.
- [5] Boyadzhiev, K. N, A series transformation formula and related polynomials, *Int. J. Math. Math. Sci.*, 23(2005), 3849-3866; available online at <https://doi.org/10.1155/IJMMS.2005.3849>.
- [6] Boyadzhiev, K. N, Apostol-Bernoulli functions, derivative polynomials and Eulerian polynomials, *Adv. Appl. Discrete Math.*, 1(2008), 109-122.
- [7] Broder, A. Z, The r -Stirling numbers, *Discrete Math.*, 49(3)(1984), 241-259; available online at [https://doi.org/10.1016/0012-365X\(84\)90161-4](https://doi.org/10.1016/0012-365X(84)90161-4).
- [8] Dattoli, G, Lorenzutta, S and Cesarano, C, Finite sums and generalized forms of Bernoulli polynomials, *Rendiconti di Math.*, 19(1999), 385-391.
- [9] Gaboury, S and Tremblay, R, A further investigation of generating functions related to pairs of inverse functions with applications to generalized degenerate polynomials, *Bull. Korean. Math. Soc.*, 51(2014), 831-845; available online at <https://doi.org/10.4134/BKMS.2014.51.3.831>.
- [10] Khan, W. A, Some properties of the generalized Apostol type Hermite-based polynomials, *Kyungpook Math. J.*, 55(2015), 597-614; available online at <https://doi.org/10.5666/KMJ.2015.55.3.597>.
- [11] Kim, T, Kim, D. S and Dolgy, D. V, Some identities on Bernoulli and Hermite polynomials associated with Jacobi polynomials, *Disc. Dyn. Nat. Soc.*, Volume 2012, Article ID 584643; available online at <https://doi.org/10.1155/2012/584643>.
- [12] Kurt, B, A further generalization of Bernoulli polynomials and on the $2D$ -Bernoulli polynomials $B_n^2(x, y)$, *Appl. Math. Sci.*, 4 (2010), 2315-2322.
- [13] Kurt, B, Some relationships between the generalized Apostol-Bernoulli and Apostol-Euler polynomials, *Turk. J. Anal. Number Theory*, 1(2013), 54-58; available online at <https://doi.org/10.12691/tjant-1-1-11>.
- [14] Llanos, P. H, Quintana, Y. and Urieles, A, About Extensions of Generalized Apostol-type polynomials, *Results. Math.*, 68, 203-225 (2015); available online at <https://doi.org/10.1007/s00025-014-0430-2>.
- [15] Lu, D. Q and Luo, Q. M, Some properties of the generalized Apostol type polynomials, *Boundary Value Prob.*, (2013), 2013:64; available online at <https://doi.org/10.1186/1687-2770-2013-64>.
- [16] Luo, Q. M, Apostol Euler polynomials of higher order and Gaussian hypergeometric functions, *Taiwanese J. Math.*, 10(4)(2006), 917-925; available online at <https://doi.org/10.11650/twjm/1500403883>.
- [17] Luo, Q. M, q -extensions for the Apostol-Genocchi polynomials, *Gen. Math.*, 17(2)(2009), 113-125.
- [18] Luo, Q. M, Extensions for the Genocchi polynomials and its Fourier expansions and integral representations, *Osaka J. Math.*, 48(2011), 291-310.
- [19] Luo, Q. M and Srivastava, H. M, Some generalizations of the Apostol-Bernoulli and Apostol-Euler polynomials, *J. Math. Anal. Appl.*, 308(1)(2005), 290-302; available online at <https://doi.org/10.1016/j.jmaa.2005.01.020>.
- [20] Luo, Q. M and Srivastava, H. M, Some generalizations of the Apostol Genocchi polynomials and the Stirling number of the second kind, *Appl. Math. Comput.*, 217(2011), 5702-5728; available online at <https://doi.org/10.1016/j.amc.2010.12.048>.
- [21] Luo, Q. M and Srivastava, H. M, Some relationships between the Apostol-Bernoulli and Apostol-Euler polynomials, *Comput. Math. Appl.*, 51(2006), 631-642; available online at <https://doi.org/10.1016/j.camwa.2005.04.018>.
- [22] Natalini, P and Bernardini, A, A generalization of the Bernoulli polynomials, *J. Appl. Math.*, 3(2003), 155-163; available online at <https://doi.org/10.1155/S1110757X03204101>.
- [23] Ozat, Z., Cekim, B., Kizilates, C., Qi, F. Parametric kinds of generalized Apostol-Bernoulli polynomials and their properties, *arXiv* (2021), available online at <https://arxiv.org/abs/2110.09411v1>.
- [24] Pathan, M. A and Khan, W. A, Some implicit summation formulas and symmetric identities for the generalized Hermite-based polynomials, *Acta Universitatis Apulensis*, 39(2014), 113-136; doi: 10.17114/j.aua.2014.39.11.
- [25] Pathan, M. A and Khan, W. A, Some implicit summation formulas and symmetric identities for the generalized Hermite-Bernoulli polynomials, *Mediterr. J. Math.*, 12 (2015), 679-695; available online at <https://doi.org/10.1007/s00009-014-0423-0>.
- [26] Pathan, M. A and Khan, W. A, A new class of generalized polynomials associated with Hermite and Euler polynomials, *Mediterr. J. Math.*, 13(2016), 913-928; available online at <https://doi.org/10.1007/s00009-015-0551-1>.
- [27] Feng Qi and Bai-Ni Guo, Some properties of the Hermite polynomials, *Georgian Mathematical Journal* 28 (2021), no. 6, 925-935; available online at <https://doi.org/10.1515/gmj-2020-2088>.
- [28] Feng Qi and Bai-Ni Guo, Two nice determinantal expressions and a recurrence relation for the Apostol-Bernoulli polynomials, *Journal of the Indonesian Mathematical Society (MIHMI)* 23 (2017), no. 1, 81-87; available online at <https://doi.org/10.22342/jims.23.1.274.81-87>.
- [29] Feng Qi, Da-Wei Niu, Dongkyu Lim, and Bai-Ni Guo, Some properties and an application of multivariate exponential polynomials, *Mathematical Methods in the Applied Sciences* 43 (2020), no. 6, 2967-2983; available online at <https://doi.org/10.1002/mma.6095>.
- [30] Feng Qi, An explicit formula for the Bell numbers in terms of the Lah and Stirling numbers, *Mediterranean Journal of Mathematics* 13 (2016), no. 5, 2795-2800; available online at <https://doi.org/10.1007/s00009-015-0655-7>.

- [31] Feng Qi, On multivariate logarithmic polynomials and their properties, *Indagationes Mathematicae* 29 (2018), no. 5, 1179–1192; available online at <https://doi.org/10.1016/j.indag.2018.04.002>.
- [32] Feng Qi, Determinantal expressions and recurrence relations for Fubini and Eulerian polynomials, *Journal of Interdisciplinary Mathematics* 22 (2019), no. 3, 317–335; available online at <https://doi.org/10.1080/09720502.2019.1624063>
- [33] Srivastava, H. M. and Manocha, H. L., *A treatise on generating functions*, Ellis Horwood Limited. Co. New York, 1984; available online at .
- [34] Jiao-Lian Zhao, Jing-Lin Wang, and Feng Qi, Derivative polynomials of a function related to the Apostol-Euler and Frobenius-Euler numbers, *Journal of Nonlinear Sciences and Applications* 10 (2017), no. 4, 1345–1349; available online at <https://doi.org/10.22436/jnsa.010.04.06>.

DEPARTMENT OF MATHEMATICS AND NATURAL SCIENCES, PRINCE MOHAMMAD BIN FAHD UNIVERSITY, P.O Box 1664, AL KHOBAR 31952, SAUDI ARABIA

E-mail address: wkhan1@pmu.edu.sa

DEPARTMENT OF MATHEMATICS, COLLEGE OF ARTS AND SCIENCES, PRINCE SATTAM BIN ABDULAZIZ UNIVERSITY, WADIL ALDAWASER, 11991, SAUDI ARABIA

E-mail address: n.sooppy@psau.edu.sa

DEPARTMENT OF THE BASIC CONCEPTS OF ENGINEERING, FACULTY OF ENGINEERING AND NATURAL SCIENCES, ISKENDERUN TECHNICAL UNIVERSITY, TR-31200 HATAY, TURKEY

E-mail address: mdrnugur@gmail.com & ugur.duran@iste.edu.tr

DEPARTMENT OF MATHEMATICS, FACULTY OF ARTS AND SCIENCES, UNIVERSITY OF GAZIANTEP, TR-27310 GAZIANTEP, TURKEY

E-mail address: acikgoz@gantep.edu.tr